HL

4,000

=
N 2 0l & AF S E A A
013HE Z0At LESIH OAIISHUBA ~ GAIIEHRA
CPEDIEL EIEIN
OGSl o =X 2E ®)f
FHBES =X (ol &2
_ _ _ N E
SH-EH . S2(30) - MRAY - BES O] &b o4 Sl aton HRE2
FEE 2L 25,485,897 24,028,991 1,456,906
= 7,516,627
= 406,000
Il 9,443,301
= 678,618
& 7,335,351
2 106,000
4580 & =X 235 &N 19,993,309 19,222,788 770,521
= 6,374,427
] 7,286,267
= 538,406
= 5,788,209
2 6,000
ddEs 54 1,512,457 1,412,400 100,057
&2 35,747
= 1,476,710
Fo=a 2 70,000 70,000 0
307 2I2toI 70,000 70,000 0
10 At S X2 & 70,000 70,000 0
ORB=Y 29 70,000
HE=218 &AL NI 31,747 31,747 0
&2 31,747
201 L2 1,747 1,747 0
= 1,747
01 AtR2tel 1,747 1,747 0
OG&ZFIGSAL X2 1,747
= 1,747
308 AtXICHM S 01 & 30,000 30,000 0
= 30,000
01 IXNHHBEHEXS 30,000 30,000 0
OO AZAI G AL XI& 30,000
2 30,000
HEHMIHLR 2H 1,160,000 1,060,000 100,000
306 = 1,160,000 1,060,000 100,000
01 &0 3 1,160,000 1,060,000 100,000
OOSFUNLR 29 1,160,000
GaEME=s X 4,000 4,000 0
= 4,000
307 2I2toI & 4,000 4,000 0
= 4,000
04 QIZ2tHALE = 4,000 4,000 0
OHLdEMEES XA 4,000




SH: GEIIEE R

Fa: olmse 2 =X 25 X
CHel: YHMBS ST (e @@
5 - MEc =
SN FHH - CA(SA) - NRAY - BES Off &k oK 0 At of HmE2
HEBMAL =X 25 246,710 246,653 57
201 LEHR | 32,210 32,153 57
01 Al 22l | 32,210 32,153 57
OWMIIE HUAREX QABMLY S 24,210
OFBX 2923 HFa4y 8,000
203 Y2 EX Y| 14,500 14,500 0
03 Al =R R F X Y| 14,500 14,500 0
OEIIEZ AL FT 9,500
Ouder s4 ¢ X 5,000
307 212+l & 200,000 200,000 0
10 Al =X 2 200,000 200,000 0
O ML ST XIS ALY 200,000
HEAEIEN 20 3,295,848 2,316,455 979,393
2 1,986,340
pJ 300,600
£ 502,659
< 500,249
£ 6.000
HHQI2ILHE 2 647,548 522,405 125, 143
| 25,000
< 502,659
= 119,889
308 AHXIEHAI SOI 647,548 522,405 125, 143
pJ 25,000
£ 502,659
== 119,889
01 AXSHBLLEZ 647,548 522,405 125, 143
OUMoHNLHE 29 597,048
< 502,659
= 94,389
OXS0oi8=TANY X2 18,000
OO HA 3H2|0f HLHEl X 32,500
| 25,000
& 7,500
HACHO LA A 2,284,000 1,475,450 808,550
=2 1,986,340
=3 297,660
308 XX SHRHIS Ol & 2,284,000 1,339,950 944,050
=2 1,986,340
=3 297,660
01 IXSHHBAEES 2,284,000 1,339,950 944,050
OBJHSENY HYXA 2,284,000
2 1,986,340
< 297,660
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S B CPEPET R TE=PN
|

E: ol8sNY L =X BS MY
Sl Ol&ALSIE O 2HTH (Sl #)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS Abod i =%
CIEASIEN RE 72,500 56,500 16,000
= 66,500
= 6,000
307 21201 & 57,500 40,500 17,000
= 51,500
= 6,000
02 IAAABE 10,000 0 10,000
OS 0 & B 23 10,000
05 BIZtoIEr S 12,000 1,000 1,000
OSH0id XxIoH 2,000
10 ALEI S X 2 X 35,500 29,500 6,000
OFZOIHME B 1,500
OB-0830IS 3] 26,000
= 20,000
= 6,000
OZELUMEY HAZM E23 8,000
308 XHXIEHHI S 0| 15,000 16,000 A1,000
01 X SHZABES 15,000 16,000 A1,000
OCSAMEIDSE2 I 29 15,000
2SO0I0R N LR2l FHeiH 145,800 116,100 29,700
| 129,600
= 16,200
308 XHXIEHHI S OI 145,800 116,100 29,700
o] 129,600
= 16,200
01 X SHZABES 145,800 16,100 29,700
OZE0I2IK NYLR2l Feeid 145,800
| 129,600
= 16,200
AALENY DSST X2 146,000 146,000 0
] 146,000
308 XHXIEHHI SO 146,000 146,000 0
] 146,000
01 IXISHBAEES 146,000 146,000 0
OFAUHOY DS X 146,000
)| 146,000
OlHIAES U olg 2,944,160 2,952,806 £8,646
= 362,288
| 1,711,529
= 870,343
S0l DE(0EZ2 LS st HSSYHAE 148,000 90,000 58,000
W, gEe we|m)| QASN E235 S)
o] 42,500
= 105,500




S B CPEPET R TE=PN
g al

HE: odsANY L =X BS ®Y
ol olAoIAES L oY (e @

- _ _ HEE
N B3 H2(3) - HIRAY - BES ol Ol & o8 Hluse
307 212+01 A 128,000 70,000 58,000
Il 42,500
= 85,500
10 AHRI S X2 X 128,000 70,000 58,000
OWA=" oigs 8 122 HAEE 20,000
Odelll d SEUSE AHA 45,000
Il 22,500
S 22,500
OZ0ots - 4 deld WS 40,000
Il 20,000
S 20,000
OdalE Y SR A3 3,000
Ood=4 Hly &2 & 8 20,000
308 AHXIEHMSOI A 20,000 20,000 0
01 IXNHHBESEXS 20,000 20,000 0
O0el0l 8= g delg= u=x 20,000
F= 4=ZALNLIIoH AKX & 2,083,857 2,130,020 A46,163
Il 1,460,925
= 622,932
307 212+01 A 5,000 0 5,000
10 A SN2 R 5,000 0 5,000
OWE=8 . 458 482 Bt 5,000
308 XX SHHMSOIA 2,036,857 2,096,270 A59,413
Il 1,432,925
< 603,932
01 HXHHBAEES 2,036,857 2,096,270 A59,413
Od2=a3t 1366 2L 222,253
p) 148, 169
= 74,084
ONE=ZUHAESAIE 228 XA 400,070
J| 329,469
= 70,601
OB EZZNNNESAE HI==X 4AHHl X
2 30,000
Il 30,000
OEZHIAAANE SAA Ex1= 25,200
Il 16,800
< 8,400
OJIEEZEENA XSS T2 159,740
Il 131,540
= 28,200
OH&E=4 Iloh At 2 =2Hl X& 17,000
Il 14,000
S 3,000
OWd . stw=T|oH At ONESTOPAI R HIEl 2 205,296
Il 169,067




CEE . (31) - MISARY -

0x
Jo
=
z
12
=1
R
121
==
El
i
oy

el

in

36,229
OO0LS A4 orE X < oI 88,200
57,600
30,600
O0tE ot® KT M= X 25,159
19,353
5,806
OdZapLA 2K 338,747
225,831
112,916
ONRZsNGA 2 249,270
166, 180
83,090
OMZATFA X235 =222 120,880
99,548
21,332
OMZTFHA 2 2H XA 30,804
25,368
5,436
=}) 79,766

(
oM & b 44,472

mn mn mn mn > mn >

<

403 XX SHHMS =01 A 42,000 23,750 18,250

28,000
14,000

<

01 X SHHX=2EE 42,000 23,750 18,250

2SANE S JIsES 42,000
28,000
14,000

n >

3= - d=ZHIolaSL ML XAL 132,850 131,750 1,100
109,407
23,443

LS!

308 AHXISHMSOI A 132,850 131,750 1,100

109,407
23,443

<

da2x= 132,850 131,750 1,100
OB EZSDoi At REXZ MY 105,810
87,138
18,672
Od=ZItoll Xt nE XS ALY 27,040
22,269
4,771

<

<

SOOI E 2SS XI& 386,830 397,450 210,620

297,597
89,233

o

308 AtXI M SOl A 355,705 371,200 N 15,495

276,847
78,858
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|
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= PSS
M- 22(3H) - MRAL arey Gl o HRE2
01 IXNHHEMNEXLS 355,705 371,200 A 15,495
OHOHOHIIoH K+ XIFAE 23 176,224
= 145,126
= 31,008
O&DHoHIIol &EA 2 102,549
= 68,366
= 34,183
Ot D88 =< 40,083
= 33,009
= 7,074
OXOHOHIIGH R = = K& A 36,849
= 30,346
& 6,503
403 KX SIS AH=01 & 31,125 26,250 4,875
= 20,750
= 10,375
01 RtXISMRE2LE X 31,125 26,250 4,875
OHADHOHIIGHAH XIRAIE JIsE2 31,125
= 20,750
< 10,375
SEOHIALS & O 20X~ 72,777 73,800 A 1,023
= 64,691
= 8,086
308 XXM SO0IA 72,777 73,800 A 1,023
=2 64,691
= 8,086
01 HXHHBLEES 2,777 73,800 A 1,023
OEZ0oHe A& &0 K& 72,777
= 64,691
< 8,086
FEZYSHol=HdEs2 XA 119,846 129,786 29,940
Il 98,697
& 21,149
308 AHXISHHMSOI A 113,221 129,786 A 16,565
Il 93,241
= 19,980
01 IXNHHBESEXS 113,221 129,786 A 16,565
OZ=gIdl 0IF0d E3Ad =29 113,221
Il 93,241
< 19,980
403 XX SHHEXH=01 & 6,625 0 6,625
Il 5,456
= 1,169
01 AtXIEHH X2 2 X 6,625 0 6,625
OZHUdl 0OlFHd EsAE JIsE 6,625
Il 5,456




CPEPIESEEIN
Hdsgig & =X g5 &K
GELAES U o SERED
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Hn=2
. o= ° I T ° . = ol = =5 0:”/‘l|_% Lsa
| | < 1,169
Ctst JFE0l CHst XI& 12,240,844 12,541,127 A300,283
= 4,025,799
| 5,274,138
& 2,940,907
SHREIIENEHL=EH SX& 2,818,380 3,452,567 A634,187
= 87,934
| 1,693,280
& 1,037,166
308 AtXIEtM SO0l ™ 2,818,380 3,452,567 A634,187
= 87,934
| 1,693,280
= 1,037,166
01 XM BLEES 2,818,380 3,452,567 A634,187
OMAS St22IIs MEtE XA 627,848
A4 S22 e XA 66,877
= 62,209
& 4,668
OetR2IE AMEHL=H & K& 1,904,940
| 1,693,280
= 211,660
OstR2Its M=l K& 156,772
OUERZRA X312 2SEXA 33,443
= 25,725
& 7,718
OZX&EINE 52 I8 2USD| 28,500
AZNEXNJEH 2SX& 1,551,140 1,252,680 298,460
= 1,152,800
= 398,340
307 2120l & 15,000 0 15,000
10 At2I SR 2= 15,000 0 15,000
OJIEME == =H A 15,000
308 AtXIEHM S 01 1,536, 140 1,252,680 283,460
= 1,152,800
& 383,340
01 XA EEZ 1,536, 140 1,252,680 283,460
OHLINEXNAEEH 2SN 948,740
= 729,800
& 218,940
Onsazdst 549,900
= 423,000
= 126,900
OHZLINEXNIAME Z2 03 (WHIER21S)
st XA 9,000
OIHES=EMAY 28,500
OGEZsIsXJ6EH 2K 4,049,334 4,230,803 A 181,469




SN OAIIER M
o o852y ©

ol Cherst Db=0l S X (Etel: &8
- = — N e
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
ol 3,580,858
= 468,476
307 8I12+0| H 38,471 0 38,471
p 26,930
= 11,541
10 ASI =X 2 X 38,471 0 38,471
OBLU2sNEMHEY 38,471
p 26,930
= 11,541
308 X+ XI £+ S 01 & 4,010,863 4,230,803 £219,940
p 3,553,928
= 456,935
01 X SHBAEES 4,010,863 4,230,803 A219,940
OUIREIIEX MY 29 X2 3,352,665
p 2,970,716
= 381,949
OUI23ItE S99 MHlA M2 219,043
p 194,087
= 24,956
OCLIRSIIE X0l X 317,736
p 281,539
= 36,197
0P R 2% X2 121,419
p 107,586
= 13,833
CHRSIOHE #=01R0IAY I 351,200 371,200 20,000
308 XXl EHHI SO0l & 351,200 371,200 20,000
01 RSB A BES 351,200 371,200 20,000
OCt23 2 351,200
0H0I S 201 XI A S 2,987,826 2,979,760 8,066
= 2,639,440
= 348,386
308 Xt XI IS 01 & 2,987,826 2,979,760 8,066
= 2,639,440
= 348,386
01 X SHBABES 2,987,826 2,979,760 8,066
OO0lOISSAY X 2,922,008
= 2,581,200
= 340,898
ONEEQL0 L BES0LSH 29 65,728
= 58,240
= 7,488
HERIE XA 2% X2 482,964 254,117 228,847
= 145,625
= 337,339
308 X+ XI A S 01 & 284,056 254,117 29,939
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ol Chgr JFE0 et X3 (et =3
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SA-E . S(E) - MEAY - BES O & o4 e SImE=ET
= 13,020
= 271,036
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ORIt SXNANEYLX 4K 16,926
= 13,020
= 3,906
OtR2IE SAANE 29 239,536
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OetR2IE SXNAEZ22L HRMEH 8,694
OetREIE SXNAIEXEH BXs&| 12,600
403 At X SHHEXH=01 & 198,908 0 198,908
= 132,605
& 66,303
01 AtXIEH X2 22 198,908 0 198,908
OstR2I=E EXNAE JIsE 198,908
= 132,605
= 66,303
Ch2sitdgdst & XNEas &N 398,968 120,000 278,968
= 140,000
L= 158,968
2 100,000
Ch2e It & -5t 398,968 120,000 278,968
= 140,000
= 158,968
£ 100,000
Ct23totd af ol 2 et et 140,968 120,000 20,968
301 etE a3 2,000 2,000 0
10 HAIAHIE &3 2,000 2,000 0
OHUE2UAF 2t 3] 2,000
307 2I2toI & 125,000 90,000 35,000
05 BIZtRIE 3 30,000 0 30,000
OLZ3IE ZEAIE 22 30,000
10 AlRIS X2 95,000 90,000 5,000
OU23ItE S 4stAtY 95,000
308 AtXIHMSO0I A 13,968 8,000 5,968
01 HXHHBLEEXS 13,968 8,000 5,968
OUSSINEXNEEH SALA HRIM&H 13,968
2= FCOJASI HESLA KNS K& 158,000 0 158,000
= 140,000
L= 18,000
308 XX SHHMSO0IA 158,000 0 158,000
= 140,000
< 18,000
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ﬂ:l_A_I: O;‘/djl._JEX-IiH_T“;}/\I
PR R PNE
o T o —

Sl HAE AZHLAS (=CRE
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &+ 04 il b o HRs2
307 212H0| | 612,028 345,678 266,350
| 242,755
= 369,273
10 AFEI= T 2 X 612,028 345,678 266,350
OUESE 2o 100,000
| 40,000
= 60,000
OBAW HSTESHEH 2% L AY X2 482,588
| 193,035
= 289,553
OBAENER HAWE NTA N 19,440
| 9,720
= 9,720
OBAHE SHUD 29 10,000
308 Xt Xl £HHI S 01 & 292,780 287,700 5,080
| 292,780
R ENEES 292,780 287,700 5,080
ONZ23ZE 29 96,000
| 96,000
OHAE S012| 24X 27,600
| 27,600
OZZ BAW $+BAL T2y 24 32,500
| 32,500
OFAESRAIL NEX X2 136,680
| 136,680
403 XX SHH S K2 0| A 406,000 1,210,000 804,000
3 406,000
01 XX B X2 2 = 406,000 1,210,000 804,000
OFAW AL 2AY 406,000
3 406,000
Had BODIT 29 55,500 43,500 12,000
| 45,500
= 10,000
307 212H0| | 20,000 10,000 10,000
| 10,000
= 10,000
10 AHEI= T 2 X 20,000 10,000 10,000
O% AW HOPAS 10,000
| 5,000
= 5,000
OFAHE IM NAE23 10,000
| 5,000
= 5,000
308 X+XI £+ S 01 & 35,500 33,500 2,000
| 35,500
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SH: GAIEE A
MNIH: ™A AL
S Tt —
ool HA

_ - S =
SN BB SA(SH) - KT BaS sl e 52
01 AXEHHMESEXS 35,500 33,500 2,000
OAlZ EadE F0AAZ 22,500
) 22,500
OFaxd-dANE BEARS 13,000
Jl 13,000
Fad g HE2sAA 93,500 125,000 231,500
301 22 a=s 3,500 0 3,500
2 IJIEt2d= 3,500 0 3,500
OFAEUYH 28X 3,500
307 g12+0l & 90,000 117,000 A27,000
10 A2l RIE X 90,000 117,000 A27,000
BHRIS AHEF 30,000
OlFc] 2ol IA 13,000
O==zd & =g 9,000
O&Ade & JIgdA 20,000
O&AE SotH oFZE U3l 12,000
OANRE Z&A 6,000
dad HMEggs N9As 2324 30,000 0 30,000
p) 30,000
308 AtXI&HMISO0I A 30,000 0 30,000
Il 30,000
01 HIXHHBLEEXS 30,000 0 30,000
OFad NEES NS & 30,000
P 30,000
a4 NEAE € 25 2,505,972 1,670,384 835,588
= 166,200
) ,545,999
= 140,212
= 653,561
I 348 XE ,373,972 1,594,884 779,088
= 151,200
p) ,487,499
= 140,212
& 595,061
201 dEt2 A 12,000 0 12,000
01 A2 2telH] 12,000 0 12,000
Ostu=Zz50e s2= NH 12,000
307 212+01 & ,278,522 833,948 444,574
= 109,200
p) 446,049
= 140,212
< 583,061
10 AISAE X ,278,522 833,948 444,574




E_H : O;‘/d j'._JF_X-I ZH 2p Al

B HAd 25 2 B4
celr HAU TRNY 2 €5 (a2
= _ NUE & —
N E2 SR (3IH) - HRAY - BYS Ao il i~ o =
O a4 SEXNIMAH *= 342,500
| 171,250
= 171,250
OF HAUW SHXNAMN 7H(ADZA2N) 50,000
| 50,000
O3AH SHEZZ Y 29 449,598
| 224,799
& 224,799
OF AW Agta X2 280,424
= 140,212
& 140,212
O¥3AH FEEHE 29 156,000
= 109,200
= 46,800
308 Xt XI EHH S 01 & 083,450 760,936 322,514
= 42,000
| ,041,450
01 XM BLEES ,083,450 760,936 322,514
ONZ BAY SEXANH 7= 725,000
J| 725,000
O¥AY &Y 29 316,450
| 316,450
ONZ BAW SCRIZE 24 42,000
3 42,000
HdAr4E BS 132,000 75,500 56,500
= 15,000
| 58,500
= 58,500
307 SI2H0| & 117,000 58,500 58,500
| 58,500
= 58,500
10 AtEI =S X2 = 117,000 58,500 58,500
OHAE HE3MEH 29 117,000
J| 58,500
& 58,500
308 AtXIEHM S 01 15,000 17,000 A2,000
= 15,000
01 XM BAEES 15,000 17,000 A2,000
ORMHESBAAS 2% 15,000
2 15,000
HHLSEFH(HLINSHHBA) 97,480 93,540 3,940
U (=T M2 A) 97,480 93,540 3,940
23H(HAIIEEH2A) 97,480 93,540 3,940
201 EH2FH| 44,000 42,000 2,000
01 AR 2teld| 44,000 42,000 2,000
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SA - BB E(3) - RN - B sros b HRE
0l &t o
OO &0t 44,000
202 (44l 42,680 40,740 1,940
01 =2 A b 42,680 40,740 1,940
O =EH 42,680
203 H =&l 10,800 10,800 0
0172249 6,600 6,600 0
OWdIt=E 6,600
04 22 4,200 4,200 0
OWEI=E 4,200
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